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% C : Cross-sectional area factor

H|H 5 (Ferrule no.)
0H(FO) HM(WRC)

23 214 (Rope diameter)

Z£72|(Measure)

EE
0|Ak(from) 0|3H(to) 0283<C C<0.487 0.487¢ C<0.613 0.613¢ C

2.5 25 2.7 2.0 3 - =
3 2.8 3.2 3 5] = =
3.5 33 3/ 3.5 4 = =
4 3.8 4.3 4 4.5 =
4.5 4.4 4.8 4.5 5} =
5 49 54 5 6 s 6.5
55 59 =
6 6 6.5 7
6 6.4 7
6.5 6.5 6.9 6.5 7 8 8
7 7 7.4 7 8 9 9
15 7.9 9
8 8 9 10
8 8.4 10
8.5 8.9 10
9 9 10 1
9 9.5 11
9.6 9.9 11
10 10 " 12
10 10.5 12
10.6 10.9 12
1 1 12 13
1 11.6 13
17 11.9 13
12 li2 13 14
12 12.6 14
127 12.9 14
18 13 14 16
13 13.7 16
13.8 13.9 16
14 14 16 18
14 14.7 18
14.8 15.9 18
16 16 18 20
16 16.8 20
16.9 17:9 20
18 18 20 22
18 18.9 22
19 19.9 22
20 20 22 24
20 21 24
21:: 21:9 24
22 22 24 26
22 23:1 26
23.2 23.9 26
24 24 26 28
24 252 28
253 259 28
26 26 28 30
26 27.3 30
27.4 27.9 30
28 28 30 32
28 29.4 32
29.5 29.9 32
30 30 32 34
30 31:5 34
31.6 31.9 34
32 32 34 36
32 33:6 36
334 33.9 36
34 34 36 38
34 35.7 38
35.8 35.9 38
36 36 38 40
36 37.8 40
37.9 37.9 40
38 38 40 44
38 39.9 44
40 40 42 40 44 48 48
42.1 43.9 48 48
44 a4 48
44 46.2 52 52
46.3 47.9 52 52
48 48 52
48 50.4 56 56
50.5 51.9 56 60
52 52 56
52 54.6 60 -
54.7 55:9 - -
56 56 60
56 58.8 - -
58.9 59.9 - -
60 60 -
60 63 - &
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6x19, 6x25 XHE)

7570

25 25 3 18 18 20
3 3 35 20 20 =
35 35 4 22 22 24
4 4 45 24 24 26
45 45 5 26 26 28
5 5 6 28 28 30
6 6 6.5 30 30 32
6.5 6.5 7 32 32 34
7 7 8 34 34 36
8 8 9 36 36 38
9 9 10 38 38 40
10 10 1 a0 40 i
11 11 12 i = =
12 12 13 48 48 52
13 13 14 52 52 56
14 14 16 56 56 60
16 16 18 60 60 -

n Af0|E = HIHEO X5

| dAgem

- i T T
5 12 18 36 81
3 6 14 20 40 e 2
35 7 +0.2 16 22 44 99
4 8 0 18 24 48 108
45 9 20 26 52 *1)'1 17
5 10 23 28 56 126
6 12 27 30 60 135
6.5 13 29 32 64 *1)'4 144
7 14 +%4 32 34 68 153
8 16 36 36 72 162
9 18 40 38 76 +1)'6 171
10 20 45 40 80 180
11 22 +05 50 44 88 +1.9 198
12 24 0 54 48 9% g 216
13 26 59 52 104 %‘1 234
e e e v s
60 120 *%‘4 270
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® Marking stamp size

r k 22 27|(mm) £2 200/(mm)
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